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AP BOARD SSC CLASS 10
MATAEMATICS MODEL PAPER PAPER — I

Time: 2 hrs. 45 mins. PART - A & B Maximum Marks: 40

INSTRUCTIONS:

i) In the time duration of 2 hrs. 45 mins. 15 minutes of time is allotted to read and understand the
question paper.

ii)  Answer the questions under PART — A on separate answer book.

ili)  Write the answers to the questions under PART - B on the question paper itself and attach it to
the answer book of PART — A.

Time: 2 hrs. PART - A Marks: 30

INSTRUCTIONS:
i) PART - A comprises of three Sections I, II, III.
ii) All the questions are compulsory.

iii) There is no overall choice. However, there is an Internal Choice to the questions under Section III.

SECTION -1
INSTRUCTIONS:
i) Answer ALL the questions.
ii) Each question carries ONE Mark. 4x1=4

Find the value of log1218 + log12 8.

2, Write an equation of line geometrically intersect to the line 5x + 6y + 3 = 0.

1 1 1
3. Find the 6th term in G.P. 1, - —, —, —— ....... ?

4. Find the total surface area of sphere with diameter 14 cm.

SECTION - 11
INSTRUCTIONS:
i) Answer ALL the questions.
ii) Each question carries TWO marks. 5x2=10

1
5. Find the quadratic polynomial whose zeros are 5 and - 5 respectively.

How many three digit numbers are divisible by 7.
7. Solve 3x — y =40 and 4x — 2y = 50.
Find the roots of (3x - 2)?> — 4(3x - 2) + 3 = 0.

M
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SECTION - II1

INSTRUCTIONS:
i) Answer ALL the questions.
ii) Each question carries FOUR marks.
iii) Each question has Internal Choice. 4x4=16

10. a) Change into the form of /ogN and find the value of N.
i) 2 log 3 +log 5

1
ii) log 64 - log B
s 1
1ii) ? log 512

iv) 3log 5 + 2 log 3 — log 45
(OR)
b) Write the following into set form and find A U B, A N B, A - B; where

A = { x/x is a two digit number whose sum of the digits is 9 }

B = {X/X is a two digit number which is a multiple of 6 }

11. a) On dividing x3 - 3x2 +5x - 3 by g(x), the quotient and remainders are (x — 3) and (7x - 9)
respectively then find g(x).

(OR)

b) A hemispherical bowl of internal radius 15 cm. contains a liquid is to be filled into cylinderical
bottles of diameter 5 cm. and height 6 cm. How many bottles are need to empty the bowl?

12. a) The sum of the 5th and 10t terms of an A.P. is 75 and 8th and 10th terms is 135. Find first four terms
of the A.P.

(OR)

b) A motor boat whose speed is 18 km/hr in still water if takes 1 hour more to go 24 km upstream than
to return downstream to the same spot. Find the speed of the stream?

13. a) Draw the graph for x2 + 4x — 5 and show that the X - coordinates of point of intersection of
X — axis is zeros of that polynomial.

(OR)
b) Solve the pair of equations graphically 2x +y - 6=0,4x - 2y - 4 =0.
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EQYJL!E e: 30 Minutes PART - B Maximum Marks: 10
INSTRUCTIONS:

i) Answer ALL the questions.

1
ii) Each question carries > mark.

iii) Answers are to be written in question paper only.
iv) Marks will not be awarded in any case of over writing and re—writing or erased answers.

v) Write the CAPITAL LETTER (A, B, C, D) showing the correct answer for the following

questions in the brackets provided against them. 20 x ? =10
SECTION -1V
14.  Which of the following is non — terminating repeating decimal ()
26 13 124 6
A) — B) — O — D) —
) 65 ) 32 ) 375 ) 23
15. H.C.Fof 12 and 18 is ()
A) 12 B) 36 06 D) 18
7 x 25
16. Decimal form of LX) «C )
23 x 53
A) 0.175 B) 1.75 C) 0.0175 D) 17.5
17. Which of the following diagram represents A (1 B when A C B ()
A B
A B A&B
%B %
I II I v
A)l B)II O D)1V
18.  Ais the set of factors of 12 which does not belong to A ()
A)l B)4 05 D) 12
19. A=1{5,7,8}; B={8, 6,4} then which of the following set represents {6, 4} ()
A)AUB B)ANB C)A-B D)B-A
20. The graph of the polynomial ax? + bx + ¢ (a = 0) represents ()
A) Parabola B) Straight line C) Circle D) Ellipse
21.  p(x) = g(x).q(x) + r(x); g(x) is a linear polynomial then the degree of r(x) is ()
A0 B)1 02 D)3

22. Ifa, P are the zeros of a quadratic polynomial p(x) and oo = [3, then the number of intercepts on

X - axis made by the graph p(x) are ()
A)3 B)2 O1 D)0
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24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

The pair of linear equations 2x + 3y + k = 0, 6x + 9y + 3 = 0 has an infinite solutions thenk =..... ( )
A)2 B)3 OO0 D) 1
The condition, if ax + by + ¢ = 0 represents a linear equation in 2 variables x and y is ()
A) |a] + |b] =0 B) a2 + b2 =0 C)a+b=0 D) A, B
Sum of the roots of V2 x% + 7x + 5V2 =0 is ()
7 7
A) — B) -— 05 D) 7
) e ) 73 ) )
The roots are equal for bx2+cx+a=0thena= .. ()
b2 2 2 b2
T B TS D)
The quadratic equation having roots are (2 + V' 3), (2 =V 3) is ()
A)x2-x+4=0 B)x2-4x+1=0
C) x2+4x+3=0 D)x2+x-3=0
Inan A.P. S, =4n2 - 3n, then t; = ..... ()
A) 400 B) 370 C) 297 D) 73
Which term in the G.P. V'3, 3, 3V 3,... is 729 ()
A) 12 B)6 O) 18 D)9
Sum of 'n' terms in A.P. is ()
A)Sn:%[2a+(n—1)d] B)S, =a+(n-1)d
n
C)Sn:?[a+l] D)A,C
A heap of rice is in the form of a cone, its diameter 12 m. and height 7 m, its volume is ...... cum ( )
A) 264 B) 254 C) 262 D) 252
The volume of a hemisphere of radius % cm. is ........ cu.cm
A) 539 B) 539 o) 539 D) 539
7 3 4 6

A cylinder, a cone and a hemisphere are of equal base and have the same height then the ratio of their
volumes is ....... C )

A)1:2:3

B)y1:3:2 C)3:1:2 D)y3:2:1
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